Klasse N, 1.Durchgang

Board 1: 4 Anschriften | Board 2: 4 Anschriften
N/S PktNS || Score || PktOW |[ O/W N/S || PkiNS || Score || PktOW || O/W
8 0.0 -100 6.0 lls Jlav 8 1.0[  -430 5o 1o [ssa +1
2 201 50 40 gln [4v 2 1.0 -430 50 6w [ssa +1
5 5.0/[140 1ol s Jsv] [ ] 5 6.0[/50 0o 7o [ssA -1
4 5.0[[140 1o 8N syl ] [ 4 49 -40d 200 8o Jssa | [= ]
Board 3: 4 Anschriften Board 4: 4 Anschriften
N/S |[ PktNS || Score | PktOW || O/W N/S |[ PkiNS || Score || PktOW || O/W
8 20  -50 4.0 1l[s [lasa -1 8 6.0] -630 0.0 o [ssaA +1
2 20  -50 40l 6lls [3saA -1 2 2.0 -660 40 glo [ssA +2
5 20  -50 40 7s [ssa -1 5 20| -660 40 7o [ssa +2
4 6.0[170 0.0 gn [z +4 L4 20 -660 40 8o [3sa +2
Board 5: 4 Anschriften Board 6: 4 Anschriften
N/'s || PkiNs || score || Pkiow || ow N/S || PkiNs || score || Pkiow || ow
5 6.0](690 0o 4[s |ssa +3 5 10 -650 so 4w 5] |-
8 0.0 -100 6o 2N [lssa | [ 8 40|  -620 2o 2w [av] [-
3 3.0[/660 3o s [lssa | [+2 3 1.0 -650] so 7w 4] [+
6 3.0[es0 3ol s lssa | 2 | [_6f eq -100 oo N J4e] [2 ]
Board 7: 4 Anschriften Board 8: 4 Anschriften
N/S PktNS || Score || PktOW |[ O/W N/S || PkiNS || Score | PktOW || O/W
5 0.0 120 6o 4w Jesa ] [ ] 5 40170 20 4N Jav] [+
8 5.0/[200 10l 2w [ssa 8 6.0][480 oo 2w flav] [+2
3 5.0[[200 10 Ao Jav 3 10 50 so 7N 5] [+
o 29[ -110 a0 dlo Jev | [ ] o 1 -s0 s N Jav] [+ ]
Board 9: 4 Anschriften Board 10: 4 Anschriften
N/s || Pkins || score || Pktow || ow N/s || PkiNs | score || Pkiow || o/w
7 0.0 -100 6o  2s |asa | |2 7 4.0][90 20 2N |2 -
6 6.0/[400 oof  glls |asa | |- 6 6.0][100 0o 8llo [+ -1
8 4.0/[200 20 gls [14 +4 8 00| -630 6o 8w [3sa | [+
4 2.0[[170 a0 s Jl1a 3| 4 20[ -120 a0 Alw f2sa | = ]
Board 11: 4 Anschriften Board 12: 4 Anschriften
N's || Pkins || score || Pktow || ow N/S || PkiNs || score || Pkiow [ ow
7 5.0[/420 1o 2s Jl4o] [ ] 7 0.0 -100 6o 2N [ssa -1
6 5.0/[420 1 ds J4o] [ ] 6 6.0][660 0o 8~ [ssaA +2
8 10|  -50 50 8ls [44 8 4.0][150 200 8w [sa -3
4 10] 50 5o s [s4] [ 4 20s0 4o dlw 2. [ ]
Board 13: 4 Anschriften Board 14: 4 Anschriften
N/S PktNS || Score || PktOW || O/W N/S |[ PktNS || Score || PktOW || O/W
1 1.0 -620 5.0 gw Jav] |- 1 00 420 6.0 go [av] |[-
7 1.0]  -620 so efw Jav] [ 7 40 149 20 6o [av] |-
4 5.0/ 100 1o 8w [av] [ 4 6.0[/50 oo 8o [24] [
5 5.0][100 10 2o [av] [1 ] 5 20[ 170 a0 2o |av] [«
Board 15: 4 Anschriften N Board 16: 4 Anschriften
N/'s || PkiNs | score || Pkiow || ow N/S || PkiNs || score || Pkiow | ow
1 00 -110 eo 8w [s¢] [- 1 1.0[[430 5o gs [ssa +1
7 5.0 140 10 6N [av] |- 7 1.0[430 50 6N [3sA +1
4 5.0/ 140 10 8N Jov] [+ 4 6.0[ 460 oo 8N [lssa | [+2
5 2.0 -100 40 2N [av] [ 5 4.0][450 20 2N [44 1
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Klasse N, 1.Durchgang

Board 17: 4 Anschriften

Board 18: 4 Anschriften

|
NS || PkiNs | score || Pkiow || ow N/S || PkiNs || score || Priow || ow
6 2.0 -420 a0 go J+o] [ ] 6 0.0 -400 6.0 3w Jssa ] |-
2 20  -420] s 4o J+o] [ ] 2 40  -120 200 4w [1saA +1
1 20 -420] s Ao J+o] [ ] 1 6.0[/50 0o 7w [2sA -1
5 6.0]50 0.0 8o [54] I Y T s gw [1sa | [+

Board 19: 4 Anschriften Board 20: 4 Anschriften
N/S || PktNS || Score || PktOW || O/W N/S || PkiNS || Score | PktOW || O/W
6 6.0/[170 0.0 gn 2] [+2 6 0.0 -100 6.0 gfs f4v] [+
2 3.0[[140 3o 4N Joa] [+ 2 5.0[|140 1.0 4s || |=
1 00 -50 6o 7N J4a] [ 1 2.0][100 4.0 7w Joa] [
5 3.0/[140 30 8N Jl2e] [+ 5 5.0][140 1.0 gls Jl2v| [+

Board 27: 4 Anschriften

Board 28: 4 Anschriften

Board 21: 4 Anschriften Board 22: 4 Anschriften
N/s_|[ PkiNs || score || Pkiow || o/w N/s || PkiNs || score || Pkiow || ow
7 4.0][100 20 4w [ssa 7 20| -650 a0l 4w [av] [+
3 4.0][100 20 8w [ssa 3 2.0 -650] 40l 8lo [av] [+
2 0.0[[50 6o 1o [54 2 2.0 -es0] a0 dllw [lav] [+
6  4.0f100 20 8o [ssa Lo  eq 620 oo 8w Jav|] |- |
Board 23: 4 Anschriften Board 24: 4 Anschriften
N/s || PkiNs || score || Pkiow || ow N/S || PkiNS || score || Pkiow || ow
7 2.0][660 40 4N [3sA +2 7 1.0[[50 5ol 4o [2a] |4
3 0.0[/650 60 §s [4v +1 3 6.0[/420 oof 8N Jav] [
2 5.0][680 1ol s [av +2 2 1.0[[50 sol dflo [3a] [4
6 5.0[(680 1.0l 8lls [lav [+2 ] 6 4.0[100 200__go [44] [2 ]
Board 25: 4 Anschriften Board 26: 4 Anschriften
N/S PkiNS [ Score |[ PktOW |[ O/W N/S || PkiNS || Score || PktOW [[ O/W
1 6.0][200 oo 8w Jssa | [2] 1 50| -620 10 o [av] |-
4 2.0[/100 a0 elw [av El 4 50  -620 10 6o [lav] |-
3 2.0“100 4.0“ 2o |3sA -1 3 2.0“ -790” 4.0” 2o j' -
7 2.0/[100 4.ou W |4 - 7 0.0 -1100 s.ou s S' -4

N/S PkitNS || Score || PktOW [[ O/W
1 1.0]50 so gw |4
4 6.0][250 00 6o [54
3 4.0[|150 20 2w |44
7 1.0][50 so 8w |3

CEo]E

N/S || PkiNS || Score || PktOW [ O/W
1 50  -430 1o 8w |ssa +1
4 1.0[  -460 50l 6w [ssa +2
3 50 -430) 100 2o [ssa +1
7 1.0 -460 50l 8w [3sa +2
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